CTpoeHune atoma.

[Tlepnoanyecknmn 3aKoH.
[lepnognyeckas cumcrema.

lNpe3eHTauno npeacraBuna
Yuyutenb xumum
MBHOY «I'mmHa3unsa 59»
AracoHoBa EneHa JleoHngoBHa

r. HoBoky3HeLK






Zn — 30 npotoHoB = N? n-n

30 3NeKTPOHOB

Ar (Zn) — 4ncno NPoTOHOB= YMNCII0 HENTPOHOB
65 -30 =35



I30aneKkTpmnyeckme 4yactuubl.

Na ® -11 anexkTpoHoB
Na *'- 10 anektpoHoB

S Y -16 anekTpoHOB
S *4- 12 aneKkTpoHOB

S 2 - 18 aNeKTPOHOB

S wE 10 aneKkTpoHOoB



L TG ATOMHBIXOPOHTRIIEN




JJ/IeKMPOHHas1 popMyia

1s 2s 2p 3s 3p 4s 3d 4p 5s 4d Sp 4f 5d 5f...... 14i
S -1s?2s?2p ©3s? 3p*
Se - 182 252 2p° 3s? 3p° 4s2 3d'Y 4p*

Cu - 1s? 2s? 2p® 3s? 3p® 4s’ 3d™






[ lepnoanyeckaa cucrtema.
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